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ENGINZCIONG & MANAGEMENT EXAMINATIONS, JUNE - 2008
‘NTROI’UCTION TO COMPUTING
SEMESTER - 2

Time : 3 Hours | ‘ _ [ Full Marks : 70

GROUP - A
{ Multiple Choice Type Questious )

1.  Choose the co:rect alternatives for any ten of the following - 10x1 =10

1) RAM stancs fur .

a) Resdw fite Lecess Memory b) Read Access Mer:ory

c) Raarto:r. Access wvemory d) None of these. r
1)  Operailng sysiem is

&)  application software b) system software

c) | both of these d) none of these. E:J
i)  ALU is a pari of

a) memory b) CPU

¢) npatdovice d)  ouipui device,
v;  The output ¢i the following code is :
for {i=1;1<=Bii 4+
{
If (1%2)
cotitliue;

printf ("%d", 1);

}

a) 123465 b) 135

c) 44 d) none of ti:ese. E:J
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V)

vi}’

vii}

viii)

The output of
it 1=5;

prinif ("%d % %d”, i, i++, ++1);

is
a 587 b}
¢ ~ 7656 d)

The output of
#define SQI(x) x*x
void main( )

int a,b:

u=-5) (a+2),

printf{"%d", b);

}
is
aj - 49 ‘ ' b)
¢ 7 d)

~17

none of these.

Which: one of tie following is a Bitwise cpéga%or ?

a) < b)
¢l << ‘ d)
The cutput of

fact=1:

for {i=1;1<5:1++);

fect=1act*,

pria:if"%d", fact),;

is
aj 24 : b)
cl ivfinite loop d)

(i1-222811 (4]
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ix)

e
P

xi)

xii)

2. a)
D)
2}

The output of

void niain( )

{ .

int arr {6]={20C, 25}

prinif ("%d %d %d", arr {4}, arr {3], arr(4]);

a) 0C0 b) 20250
2) 2500 d) none of these, E._,f

The purpose of mode - 15 to

- a) ope: v only reauing

b)  open for only writing

c) opeh £o: both reaaing and writing

d) none of these. : Em!
Pointer is

a)  wvariabie containing the address of a variable

b) a value |

¢}z memory location ~

d) uone of these. ‘ ‘ :}
A function may contain

a) one rc¢turn staten:eit

b)  two return statements

c) JAGHE Gian two rettn statements

d) noae of thase, !:____

[ S—

GROUP - B
( Short Answer Type Questions )
Answer any three of the followir.g. 3x5=158

What are u.c basic features of an algorithm ?

e

(1222811

Write an aigorithm to find largest among three nu:mbers taken as input. 2
Wnat are tne disadvantages of machine language ? - 2
(4) ]
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3. With a suitable biock diagram, briefly explain the major components and thel

fanctions of any conventional computer system.
4. i) Write a functiou power (a,b) to calculate the ~s/al'ue of araised to b,
b)  Wnat will be tne output ?
’v"oiniu fun(int*i, int*j);

waia )

{

int i=5, §=2;

fun(&d, &j);

printf ("\n%d %d", 1, j)
}

Yz (Ing*t, nt*)

{.

*i=*1**{;

‘Qj=‘Jt¢J; .
} | | 2% 3
5. a)  Whatis dynamic memory allocation ? i
L} Write cowr. ihe ¢:fferences between malloc ( ) and calloc ( ). 2
¢ Wilte CoaL (. aifierences between structure and uafon. 2
6. W) What wre LL: cifferences between recursicr: and iteration, 2

b)  Write «. recursive C function to calculate factorial of a number.

)

M-2722851 (&7

Collections of board question papers, sample papers, guess papers for schools


http://www.howtoexam.com

http://www.howtoexam.com

~ Bl ‘;t;a:,,

€5/B.TECH/SEM-2/C8-201/¢t 7 % ;5 ék
~gef

gy

L
GROUP - C
( Long Answer Type Questions ;
Answer any three of the following guextions. 3.1% = '8

7. a)  Write down the differences between compliler and interpreter. 2

b}  What is an operating system ? Write down the pasic features and ope: wons of

an operating system. ' ' 5
c) Pérform the following oper’ations :

1) Convert (160 110101), to octal

i) Convert (536), to nexadecimal

i) Comnvert (23-78),, to-binary

tv)  Subircct (7),, fron: (17),, in binary using 2's counpleracnt

8. &  Wite a C program to find the largest and smallest among a list of n numbers

talzen as aput. : | 5

b}  W.ite a U .rogram ts check whether a string taken as input is a palindrome or

nee. 5

c) Write a C |..ogram w print the following pattern ( i n rows, where n is taser

@

inmuet ).

i

232
34543
4567654

9. a) Explain call by value and call by reference mec..anism for passing argum:c..ts
into a fisiction a function call. Write a C ifurction to svap the values of two

integer variables passed as arguments. Also write ii.e maia functin. t

(222 311 (4))
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b) ﬁcfine a structure called crickét that will describe the following information :?
Pléyer name
team name
batiing average

Using cricket, declare an array player with £C elements and write a program (o :
cead the information about all the 50 players and print the name of the piaye -

having highest batting average. ‘ 4

{0. a) Write a C program that will receive a filenaine and a line of text as com:uand line

arguments and write the text to the file,

b) Write down the differences between while aud do-while. : w
c) \?VI;at Is type casting ? What is automatic iype conversion ? 3
1. aj what is the difierence between lter/ative fuaction and recursive functior.
| b) Write a C program to find factorial of a numper using iterative function s we |
recursive funciioa, | " 3+4(6.6;
| END

(1222811 (17
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